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INSTRUCTIONS AND INFORMATION

Read the following instructions carefully before answering the questions.

L.

This question paper consists of 3 questions,
Answer ALL the questions,

Number the answers correctly according to the numbering system used in this
question paper.

Clearly show ALL calculations, diagrams, graphs, etc. which you have used in
determining your answers,

Answers only will NOT necessarily be awarded full marks.

You may use an approved scientific calculator (non-programmable and non-graphical),
unless stated otherwise.

If necessary, round off answers correct to TWO decimal places, unless stated otherwise.
Diagrams are NOT necessarily drawn to scale

Write neatly and legibly.
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QUESTION 1
1.1 Simplify:
LL1 (2x-3)(3x* ~4x+1)
142 4x+l.3x—l
12r—1
1.2 Factorise fully:
12.1 3x* -2x-5
122 -xy—(y-x)b+b
QUESTION 2
2.1 Solve for:
2.1.1 x(x-8)=-12
213 x—3 _2x+4_—-2x
1-x* x¥1  x-1
2.1.3 3 -3"%2=24
2l -—1<§+354
22 The sum of the squares of two consecutive natural numbers is 85.
Determine the numbers.
QUESTION 3
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-1 The sketch below shows a graph of f(x)=b*+¢. P(-2, 5)is a point on the graph,

F

3.1.1 Calculate the values of band ¢.
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3.2 Sketched below are graphs of f(x)=-x+9 and g(x)=rmx+3 .The graphs intersect at
points A and C .Points A and E are the x intercepts of /' and B and D are the y intercepts of f and

yll
B

- x
g. v
3.2.1 Determine the coordinates of points B and D, - (2)
3.2.2 Write down the domain and range of f . 2)
3.2.3 Determine the length of AE. (4)
3.24 Calculate the value of m, (2)
3.2.5 Determine the coordinates of A and C, the points of intersection of f and g. (4)
33 For which values of x is:
331 f(x)> g(x) 2)
332 f(x)
2 <0 2
g(x)
(22]
TOTAL: [50]
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QUESTION 1

LL1 | 2R84+ 2% —-9x% +12x—3 v'simplification
=6x3~17x2 +14x-3 v answer (2)

112 22.\:-!—_2.3.\'—1 5 22x+2
= W /221—4.3.\:—2
— 963! v'203

v (4)
—192 192
L2111 =(3x=5)(x+1) v (3x-5) (2)
v (x+1)

122 | =—xp— yb+xb+b° isimpli_ﬁcation
(BBl grouping/common factor
=(x+b)(b-y) v answer (3)

[11]

QUESTION 2

2.1.1 | ¥2—8x+12=0 v'standard form

v
(x—6)(x—2)=0 factors
x=60r x=2 v'both answers (3)
2.12 +4 2x v —(x-3)
—l):—z.X(X-'l']) /—2x2—2x—|—4
—2xde 25 2 v 2x*-2x
o v answer
2131 37 (1-3%)=24 V3 (1-37)=24
3 € )= 24
3 V3 =27
3 =27
¥=%
=3 v answer 3)
218 sl v 4<= <]
2 2
-8<x<2 vV -8<x<2 _
(2)
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2.2.1 X2+(x+1)2 =85 v x? +(.vc+1)2 =85
XX +2x-84=0
v
et s o standard form
(x+?)(x—6)=0 vVx=6
x#=70r x=6 Y7 )
[17]
QUESTION 3
3.1 f(x)=b"+q through P(-2;5)
R v'substituting P(-2;5)
L, 7
Iz b
bz% v'value of b
g=1 v'value of ¢ (4)
321 B(0,9) v B(0,9)
D(0;3) v D(0;3) 2)
3.2.2 | Domain: x € R v xell or xe(-—oo;oo)
Range: y<9 or y e(—0;9] v p<9 or ye(-%9] )
323 —x24+9=0 v'equating to 0
x=-3 or x=3 vx=3
AE =6 units ;x=—3 "
AE (
3.24 e 3-0 v'substitution
0+3
m=1 v'value of m (2)
325 | —x*+9=x+3 V—x’+9=x+3
X+x-6=0
/(x+3)(x—2)=0
(x+3)(x-2)=0 v 4(=30)
I=2 ¥
y=5
A(-3;0) v C(2:5)
G(2:5) (4)
331 | B3<x<2o0r xe(—3;2) v'v'each end (2)
332 | x=30r x €[3;®) v'vanswer (2)
[22]
TOTAL: [50]
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